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Q1) M a tonsparent paralel plats of Mickness | and refraclive indes n s Irbraduced
peparadiculaty in the ight beam, Me apical path
{al incregsed oy (n =11 {b) cecreasad by nt
(o} deceased by (n- 1)t {d) Increszed by ni

Q3 mmmyﬂmmﬂgudmmwhmmluthemkdnﬂeby-lm
system
(@ the process must be Bothermal (b)) the procese must be adlabatic
(e} the process musl be isobaric fdy the lemparaiurs of the system musi noease

0.3} In a resonance column expariment the first 3 resonant lengths are |, & and | res e clivety
Tha ly 1z lymay be given as
{a) 123 b} 2:3:5
{g} a5 {d) 48

2.4) Anintnse semiconductor al sbrolus oere of lemperatune behaves as
{a) an insulator {bj) a metalic conductor
{c) & superobnducton {d) & semiconducior

0.5) The motion of planets in the solar sysiam 5 a0 example of consarvation of
(&) magss (b} linear mamsntum
{c} angular momenum (d} kinatic enangy

QUB) A 4uF capachor s charged by a 200V supply. The energy sioded in the elocic fiskd of the
capacilon s
(@) Bx1gJ ®) 16107
fe) Bt {d) 1.6x107"d

Q.T} A thin concave and-a hin convex kens are in confac!. The mtio of the magniude of power of
two lenses is fmﬂﬂsﬂoﬂl lengih of combination is 30 cm Tha focal lengih of the convex

ns s
{a) 10 em (Bl fdem
{ah ¥5em (d) 2Wem
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.8) Tha retasion cannecting magnotic suscapibity 1 and refative permeabiin s
(Bf 3=l 1) By x-id-1)
fel ! () 3 oaip 41

Q.8 Taking the significant figures into conscjeratan, the product of 109.832 and 08107 should

I wirithen fes
{a) B7 0744 b 87
(e} &T.07 (d)y 6T OT4402

Q2.10) One spring has force constant 200Nm”", anathar has force constant SO0Nm". if they arg
Ioired in geries, tha force constant will be nearest o

(a) 7OOMm™ (b} 30GHm"

€] 143nm " g} T00Nm"

Q.11) Twe plarve miroes mmmﬂmangladﬂu'hmtmr.hpnmmhwmdm
betwaen tham, The total number of images produced by both the mirors is

{ah 2 iby 4

{ci 5 () 8

0.12) A 150 m beng Irain 15 travefing from east lo west @l 2 epeed of 20 me". A bird iss flying fram
witst tn easl of o speed of 5 ma ' How long will the bird lake 1o cross the bain?
(@) s (b Bs
ey 10s8 4 128

0.13) The masses of twe paricles having same kinetic anergy ‘are in the ratin of 21 Their
de: Broghe wavelengths are in the ratio
fap 2-1 o) 1:2
(&) ¥3 1 () 1:42

Q. 14) A ball of mass m collides with a wall wilh spesd v and rebounds on the same line wilh the
same speed, If the mass of the wall iz taken as mfinfte, the weedk done by e ball an the wall |s
{a) 2w {b) @
{ch v (4} 2ema
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0 15) Thee meran kinetic enengy of moaoules in 1 mole of o manatomie deal gas is equal o
{k i$ Boltzmann cenatant)

fa) kT th) T

(e KT o) T

CL16) The equation y = 0.02 Sin {5001} Cos (4.5} t represens
[} progressve wave of requency 250 He along x-axis
(B} 2 standing wave of wavolength 1 4m
[c} a bransverse progressive wave of amplitude 0.02m
() progressive witve of spead approxmately 350ms

ﬂ.'l?]HEMMWNMNBIMMMidrﬁ.lalﬂfhﬂ‘lﬂﬂth“rﬂl'&lw’fiu!rdﬁis
e escape velooity for the earth. the relation betwean the bae s
(@) w=vE w thy vp e VT v,

() Wa=v, () e = 2wy

QU18) The mefractive index u of a matenal vares with wavelength 5 n the Todlcrsving. manmer

{a and b ara canstants)?
iB) p=a+ib m;p.“;
e p=as s {4 p=asbn’

0.18) Hveciors & and bare given as
d= 57+ 6; ¢k
= Gi-2j- 6k,
whach ol e following statemants is comect?

{a) a and b are mutually perpendicular (b) =D issame as b
I:C:l |i+1'||!n+'h :ﬂii = E"-.‘fh' ciih

(2.20) Twe phatans are emited in opposie directons by & souros
The welocity of are photon redative to the olher s
fa) ¢ e} 22
gy ¥le [d) wara
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Q.21) In Young's doube sht expermant, This Tringa width with light of wayelengih ) = 600 Am = 2
mm. The fringe widih, wien fhe & of kght s changea o 400 nm is

{a) 4 mm B 3mm

iel 2 mm {d) Tmm

.22y An alactina lield does not exis! in tie iwgion,
{a) batwesn the nucleus and the eleciron in an atom
(b} Inside & curreni camyng conductes
ic) inziosn @ plate of insulater hald batwisen the piabes of & charged paralie! plates copacsor
id} inside a cavity of a charped conductor

Q23] A Tabl=-Tennis ball flosting on the top of a venical waise |ed s @ conseguenca of

(a) Siokes’ Law (b} Bernoulli's principle
(o) Pascals Law (d} tha phenomenon of sudacs tenssen
0.24) Balmer senes in tha spectyam of H — atom lies in
{3) Meor infrared ragicn (b} Far infrared reguon
te) Visible region {ef} LN resggian.
0.25) The surface tenslon of scap sohidion |5 5, What & the work dona in blowing & small bubble
of rafines 17
@ =r's by 2=r's
) 4xr'S 4} Bers

.28) Themwmdwmﬂmammmm“mmhﬁm i5 (VI8 the
rma value of Ihe AC voltags)

(a) mero b} C¥
e Jev? @ ;ov
0.37) Vealocily of saund in & gas M a given lemperaturs & 340 ms’
If the pressure of gas is doubled isothermally, the speed of saund in this case s

(@) 110 ms’ (b} 340 ms™"
{c} 580 ms’ (e} 1360 me"
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CL28) An enclosure mantmied at 1000K radiates the most at the wavalength b, If temperature
i5 raised 10 2000K, the maxsmum emisson of radation will ocour a2 the toliowing wavelunglh

b)) 2im

iy
L
fe) 18 by

0.25) In a charged parallel plale capacilor, thy plales camy charges Saf, whens A= area of sach
plate, The oppositely charged parilial plates atiract each ofher by & force F equal o

[E
i

fa) &2 by ==
fany? I
o) = () LA
.30} In & senes LOR circuil, the mms voltage across R, L and C & 10V each. The ms value of
appled emf iz
(@) 10V (B} 1047
(o) 1043 W i) 2oV
Q.31) Magnaying power of an astronomical ielescope for nomial wision (in usual notsthons) k&
(a) =1 't B =falls
[e) <lamfa (d) fasie
32} The maximum @nd minimwm vabses of Folsaon & ratio for 8 metal be in the following imits
@) -1t +1 O Y]
[e) 0o g 0loQs

033} A prgechile projected al 30 wih the hoirontal achiewss a horizontal range R 1L can
achieve the same honzonlal range R il projeciec (with the seme iniial velocily] @ the

following anpgle o wilh the verical
|a) 15° B} 22.5°
{d}l N cannol achieve the same honzontal ranga

ey 30
lor any angle « < G0 wath the vartcal

1 34) In an eleciremagnetic wave the £ and i vectors at any instan; of teme heve
{a) e seme phase () mame amplikide
e} phase difference = {a) phase diference &

HOTE: The I[nformat lorn provided her= s only for referente. 7 may vary Ehes Ol
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0Q.35) & simple pandulum is attachad 1o the oeibng of & lift Its hirme pariod of oscilfation when the
I i slatanary & T. 14 frequensy of ascillations, wian the (i fils freety is
fap T ity :

(e} e (i} w=

Q.38) A star converts all of s Helium inte Cxygen nucleus. Find the amound of enargy released
P nucleus of nopgen. The masses of two Mucle| are as follows:
m{He )= 40006 u, m{0j=1559904 y
fa) 512 Mey (b} 7 Mew
{e) 7 28 bev (d} 1024 Mav

Q.37) Twa satellites of masses 3M and M orbif the eanth in the circular asbits of radii ©and 3r
tespechively. Tha ratio of their orbital velecies is
fay 1:1 i 3
) 3:1 (a) 8:1

&Bﬂjmwmo'mmnduﬂnrm disc abaut dn axis perpendicular 1o the dise 3t its cantre
l-t--- whare M is the mass and R the radars of the disc. If tha disc is rofing on the rdge
nlhwtumlm.mu:m:mmm_mmummm“awm e
translationsl kneiic energy is
(a} 1 ]

|
€ 5 fe)

ol |-

01.38) Wavelength I, line n!x-nymﬂmmmmnmhﬁma

(@ rax? b LeE

e ek () Ll

C1.40) The pecess pressure nside asmall soap bubble of radus 1 is proporionad ts

i) r (o =

¥

0 @
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.47} An aloctren is ravelling along X- direction. it encounters & magnetic fisld in the - direction
s mulrmequent moteon wil b2
fa) @ circle |n the X2- plane () & eircle bn the YZ- plans
(o) a circle In the XY-plang [} & straight line along X- direction

.42} A particle moving long @ circular path wath unifcrm speed has &
{a) iadial valocty and radisl acceleration
(b} radial velocity and transyverse acosiarabion
) transverse velocily and radal accelaratian
{d} rangseese velotity and Trantvarse accelaraton

.83 in'a region of space the electic hedd mgivenas  F=fis4)-3K
The elecin: flux through & surfacs soa of 100 units in X¥- plang 5

{a} 300 units (b} 400 units

(£} BOD unis {d) 1200 uns

. 44) Which af the fallrwing g=ir of physical quamities does ot have the same dimensions?
{4} Electrc fiux, Elecinc dipale moement
(b} Preaswa; Young's modulus
{£] Elecromotive focce, Polantial difference
{di Heal Potential energy

0 45) When a magnetic material is subjected o an exiamal magneiizing fiokd, & ablity Lo get
miagnelized 1 epreseniod by
(@) mapgnetic pemeatskly
(v} magnelic Brsceplinility

e} magneiic viscosdy
() mmgmet resonance

1 45} Which of the foliowirsy represants an sdkabatic procass it an weal gas| the symbol v has s
usual sigralicanca)

(& p\ = constant () TV = gonstant
(c} pv™' = corstant {di Tv"' = constant

I¥ Tar e feeenice, [E may vary Ehe Origlhsl
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.47} The amplilude of the bob of a1 osalating simple pandulum decreases wailh Sime The farce
F responsibie for 2 depends oo ihe velocity v of ihe bob as
fa} Fe v by Fuw
ic) Fos W F= L

{1 48) Two charges are Kept in air, separated by a distance r |f they are kept in B gesiaciric
medium of dealeciric constan K, separated by the same distance, the force bebween them
{@) remaing unchanged (b} decreases K limesa
(e} inereases K limes {e) increases KT times

.49 'When a standing wave Is formed, its fequency &
ia) same as that of indrideal waves (6] twice that of individual waves
fe) hail that of the individual wives {#) 2 timas thai of the individual waves

Q.50) Fora given bipalar juncbion fransistor the value of § is DB.WR32 is the corresponding value
of o 7 (symocis have thair ssual meanings)

(&) 0.0 ) 1M
& 128 L
Lty
9
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